


Defense 6:0
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Pivot man between num. 1 - 2
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Pivotman between num. 5 - 6




Pivotman between num. 2 — 3 (4 — 5)




Pivotman between num. 2 — 3 (4 — 5)




Pivotman between num. 3 - 4




Pivotman between num. 3 -4




Pivotman between num. 3 -4




Pivotman between num. 3 — 4 (tactical problem)
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Pivotman between num. 3 - 4




6:0 against 2 pivotmen and 2 back players
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6:0 against 2 pivotmen and 3 back players
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6.0 against 2 pivotmen and 3 back players with transformation

14



Variants of 6:0 (variant 1)




Variants of 6:0 (variant 2)
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6:0 as 1:5 (variant 3)
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